P.G. GEOLOGY

The hypabyssal igneous rock comprising predommantly of plagloclase and
ortlmpyroxene can be classified as

(A) Gabbro (B) Granite ~ (C) Doleritt (D) Rhyolite

The freezing point of sea water

(A) increases with salinity (B) is independent of salinity

(C) decreases with salinity | (D) increases with evaporation

In case of earthquakes isoseismal maps are prepared for their

(A) intensity I : (B)"m'a‘gnitude |

(©) energy . (D) frequency |

Siderophile elements have affinity towards

_(Aj 0 ®F  ©s  ®s

The 1sotope ‘Cis produced in Earth's atmosphere by the interaction of cosmic rays
with . _

@ . ® '°B' ©O"N (D) "C .
What is the plutonic equivalent of Phonolite 7
(A) Nepheline Syenite . (B) Theralite

(O Ijo]'ite LAk - (D) Monzonite ~

Amongst the followmg optlons the acceptable Poisson's ratio of a rock is

(A) 055 - o@® . ©02s - O- 10

. Structure contours of a beddlng plane at 100 m mterval are spaced in such a manner

that the honzontal equlvalent is also 100 m. The dip of the beddmg planeis

w . @t ©6 @)
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" P.G.GEOLOGY -

What will be the Miller-index of the crystal face whose Weiss symbol is given as
a,2b,0c? '

(A) a,2b,0c | (B) 1,1/2,0

©) 2,10 (D) None of the above

Quartzis

(A) uniaxial-ve (B) biaxial +ve

(C) uniaxial +ve | (D) biaxial -ve

Prcdict the provenance from the given heavy mineral assemblages.

"Andalusite, garnet, staurolite, zoisite, e_pidote, kyanite"

(A) Basic igneous rock  (B) Acidigneous rock
(C) Metamorphic rock (D) Reworked sedimerétary rock

What is the value of Froude Number for supercritical flow of water ?

(A)*F=0 | (B) F=1 (C) F<1 (D)F>1
According to depositidnal texture the carbonate rocks havin g mud-supported frame .
work with > 10% grain can be classified as :

(A) Mudstone | (B) Wackestone

(C) Packstone : , (D) Grainstone -

The matrix formed by diagenetic alteration of sand-size grains are éalléd asll

(A) epimatrix : ' o (B) protomatrix -

(C) orthomatrix (D) Iiséudématrix

Which coal maceral shows hlghest reﬂectance ? _
' (A) Vi_tnmte | | e ' (B) Llptmrte :
(C) Inettinite B (D) Exinite
(2)

( Caminued )
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P.G. GEOLOGY
10. The greatest principal stress axis is vertical in .

(fc\)'normal fault (B) reverse fault
(C) thrust fault | (D) strike slip fault

17. Which among the following is a characteristic feature of Echinoids ?

(A) Telson _ .’ | (B) Aristotle's Lantern
(C) Pallial sinus - e (D) Pedicle
18. j['he body of strata in which the maximum abundance of a particular species is found
isknownas
(A) assemblage zone - .- '(B) range zone
(C) concurrentzone (D) acme zone

19. Which among the following is not a progressive trend in human evolution history.?

(A) assumption of erect posture (B) shortening of arms
(C) increase in jaw power = (D) increase in skull capacity -

20. The Vempalle shales and limestone formation belongs to .

(A) Papaghani Group ~ (B) CheyairGroup
(C) KistnaGroup i _ (D) Nallamali Group

21. The magneﬁc polaritjr of preéént rocks with réspelct to prése‘nt pol_e' orientation i
can be grouped under | . g
- (B) Jaramilldreversed

(A) Bruhnes normal -
(D) Gilbert revc;sed o3

- (C). Gauss normal" -

22, Which isnot al cpmponeht of Steinmann's trinity ? _
- (A) dpﬁiolité _ | | - (B) Gfeywackes

i (o) ‘Arkose (D)“Rad.i-olarian cherts

4 (3)  (TumOver)
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'P.G.GEOLOGY

23. The Sukinda chromite deposits are formed mainly by

(A) magmatic segregation . (B) residual deposit
(C) contact metasomatism - (D) supergene enrichment

Ina sample Rb*/Sr* is found in the ratio of 1 : 3. If the half-llfe of Rb* is 50 by
(billion years), the age of the sample is

(A) 50 by (B) 100 by (C) 150 by " (D) 200 by

Which type of chemical reaction is represented by following equatlon ?
CaSO, + 2H,0=CaS0 +2H,0

(A) Hydrolysis R _ (B) Hydration

(C) Oxidation e (D) Reduction -
Paradoxides is the index fossil of

(A) Permianperiod - " (B) Cambrian period
(C) Triassicperiod - = ° (D) Jurassic period

Which metamorphic facies is represented by followmg ‘mineral assemblages 7
Omphacite + Gamet + Olivine

(A) Granulite facies =~ | (B) Eclogite facies -

(C) Amphibolite facies - (D) Greenschlst fac:es

Which of the following is a measure of the Symmetry of the dlstnbutlon of grains ?

(A) Kurtosis (B) Sphericity

- () Skewness ‘ | (D) Roundness

9. What would be the cntlcal angle of a mmeral if its refractlve mdex is 2 ‘? |

(A) 0:: | (B) 30 (C) 45° (D) 60°

pid (Contir_med )
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P.G.GEOLOGY

30. Which of the following deltas indicates a high ratio of sediment supply to wave

energy ? . _
(A) Bird-foot delta - (B) Lobate delta
| (©) Cuspate delta (D) Arcuate delta

31. Which is not a characteristic property of Indian tertiary coal ?
(A) Low moisture _ - (B) High cald’r’iﬁé value
(C) Low ash content - (D) Low sulphur

32. Which among the following microfossils are calcareous ?

(A) Cocollthophores : | . (B) Radiolarians _ |
(O) Dlatoms | _' - (D) Conodqnts '

" 33. Firstland plant appearedin ' e
(A) Cambrian = ' (B) Ordovician
(C) Silurian - (D) Devonian

34. The space lattice structure of minerals s determined usmg

(A) Chemical analysis . _ (B)-Spectroscopic method |
©) X-ray diffraction | (D) Scanning electron microscope

3S. How does the plagiociasc.'composition-changé from gran'ite to dioritein the
granite-diorite series ? | - .
(A) Increase tpwards diorite |
* (B) Descreses towards diorite
(©) Remains unchan_ged | A
(D) Incregses u'ﬁfb qéftz_liﬁ phase then decreases o 5

sy T T T Oven)
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P.G. GEOLOGY

36. The index of compositional maturity is determined by

37.

38.

39.

40.

41.

(A) Quartz/ (Feldspar + Rock fragment)
(B) Feldspar/(Quartz + Rock-fragment)
(C) (Feldspar + Rock fragment) / Quartz
(D) (Quartz + Rock fragment) / Feldspar

Which type of triple junctions are stable for all orientations of platel boundaries ?
(A) RRR - (B)RTF: (O TTT ~uw .« (D)FFR
Mid oceanic ridges mark . plate margins and can be traced by belts of
focus earthquake.

(A) Constructiﬁe, shallow _ o (B) Destructive, shallow
(C) Constructive,deep (D) Destructive, deep

Choose the copper ores 'amoﬁg the following :

1. Chalcopyrite |

2. Pyrite

3. Bornite

4. Chalcocite

5. Covellite T |

@) H23E o @85, 5 1 - (O LaAFE BT 5, 5
Which is the purest form of iron ?

(A) Castiron ' Bt -~ (B) Wroughtiron = - -

(C) Native iron (D) Pigiron" °

The volcanic topo graphy comprising of altemativ§ la}?ers‘,bf pyroc]l-a;c,ti‘.;' mﬁiéﬁ als
and Lava is called as : | ' il geals siaec i B

(A) Strato-volcano “a e e s SB) Shielld_-'ircl‘)l__éaﬁ;)' s o i

(C) Cinder cone (D) Lava cone

oy  (Continued) -
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P.G.GEOLOGY

Natural Levee is a

(A) Channel fill deposit " (B) Floodplain deposit

(C) Point bar déposit | (D) None of the above

Flowing well results when

(A) Piezometric surface lies above the ground surface
(B) Piezometric surface lies at equal_ height of grdund-surface w7

(©) Piezometric surface lies below the ground surface

(D) BothAandB

What is the definition of ground water 2

(A) Water.found in the zon.e of saturation
(B) Watef found in the zone of aeration
(C) Water found below the ground surface
(D) Alloftheabove

Which is considered as the mother of all extinctions ?

(A) Cretaccous—Palz;ebcene ' .(B)' Permian-Triassic

'(C) Carboniferous - y (D) Silurian

Folded sedimentary layers can be seen in

' (A) Gradedbedding -~ ° - (B) Convolute bedding
 (C) Crossbedding. -~ 3 (D) None of these
Chose the oddone - _
(A) Grano-blastic ... ., -~~~ . _ - (B)Ophitic
.. (C) Porphyritic el . (D) Graphic
T3 200  (TumOver)
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P.G.GEOLOGY

- 48. What is the composition of 22 carat gold ? |
(A) Puregold - - - (B) Gold and copper
' (C) Goldand aluminium (D) Gold and silver

49. Which of the ore deposits are found at greater depth ? .

(A) Exothermal _. : (B) Mesothermal
(C) Epithermal - - ..(D) Hypothermal:

50. In Wenner array for resistivity Survey, what is the correct relation bet_w_c_e_nlpbtentlial
electrode separation (V) and current electrode separation (I) ?

@v=1 @®I=3V . .. . .
(C) v=31" . ' (D) Noneof_'thea_bqve

51. What type of drainage pattern can be associated with volcanic domes ?
(A) Dendritic . I (B) Rectangular
" (C) Radial | (D) Trellis
. 52, Which are stratified glacial features ?

(A) Kames . (B) Cirque (C) Moraines (D) Yardang

- 53. Which state is the largest‘ producer of Baﬁxite in India ?

(A) Gujarat
(C) Odisha -

(B) AndhraPradesh .. -
(D) Jharkhand .
~ 54. Which is the fundamental unit of lit]mstfatigi'aphic clés;v,ifi,cationt 2.

() Group ' i -

futi | (B) Formation - -
~ ~ (C) Member ' :

- (D)Bed

v
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P.G. GEOLOGY

55. The Uttatur formation belongs to
(B) Jurassic system of India

(D) Siwalik system of India

- (A). Tri_assic system of India

(€) Cretaceous system of India

* 56. Inavirgin area where copper is expected which method is used to start prospecting.

(B) Geophysical
(D) Drilling

(A) Geobotamcal
(C) Geochemical

57. Which type of clay is used as drnllmg mud ?
~(B) Fullers clay
(D) Fire clay

(A) Chma clay
(C) Bentonite clay

58. Which is orthorhombic epidote ?
" (A) Zoisite (B) Clinozoisite
(C) Orthite 5 (D) Piedmontite

59. Lepidote is
~ (B) F-bearing mica

.(A) Cr-bearing mica _
(D) Fe-bearing mica

(C) Li-bearing mica

60. The earliest fossils of foraminifera are found in

. (A) Permian rocks:

(C) Silurian rocks

. 61. The Deccan volcanism started during

(A) Late Tnassxc
(C) End of Cretaceous

(B) Carbbnife:o;is rock

(D) Upper Cambrian rocks

(B) Early Cretaceous _

(D) Jurassic
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P.G. GEOLOGY

62.

- 63.

- (A) Schizoneura

64.

65S.
66.
67.

68.

The degree of freedom at the peritectic point of 2 bingry system 1S

(A) 0 - @B 1 (C)'_z' - D)3
Which is an upper Gondwana fossil ?

(B) Gangamopteris
(C) Ptilophyllum = - . (D) Vertebraria

Which of the following combination is incorrectly matched ?

(A)‘ Mariana Trench - Atlantic Ocean
(B) Bermuda rise - Atlantic Ocean
(C) Ninety east ridge - Indian Ocean
(D) Carlsberg ridge - Indian Ocean

Fissility is best shown by .
(A) Sandstone, |

| (B) Limestone
(C) Shale

(D) Siltstone

Which sediment shows very poor sorting ?

(A) Aeolian deposit - (B) Fluvial deposit - -

- 1C) Glacial dcposit (D) Beach deposxt
Rwers Wthh dram in the opposnte dlrectlon to the original conse.:q.ue.nt'rlver are
(A) Subsequent . . - (B) Insequent
(©) Obsequent - : (D) Resequent

The axnal relatlonshlp in orthorhomblc uﬁlt cell 15.; |
) a=b=c,a= B 7 - 90°

© a=brca=payeo0t’ - B)azbsc,a=p=y= -90°

(D)a b?&ca B 90 Y= 120 g
g e e :
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P.G.GEOLOGY

The intertrappean beds are of

(A) Volcanic origin . S (B) Marine origin

(C) Fluvio-Lacustrine origin (D) Contirental origin

Which ray among the following has the maximum penetration power ?

(A) Radiowave - - 42 (B) Micro wave

(C) X-ray PRy (D) Gamma ray

In.aerial photography what should be the amount of overlap between two adjacent
‘photos ? - : :
(A)30%  (B)40% (C) 50%  (D)60%

The charactéristic facies of contact metamorphism is

(A) Hornfels . (B)Blueschist.

(C) Eclogite e (D) Granulite

The facial sature of the trilobites running through the genal angle i is known as

(A) Hypopanan ' | - (B) Opsth()panan
' (D) Gonatoparian -

. Which of the follo'wiﬁg statement is correct for parallel fqld's ?

(A) Orthogonal thickness at hinge > Ofthogona] thiékness atlimb
(B) Axial plannar thickness at hinge = Axlal planner thlckness atlimb .

©) Dip isogons are parallel |
(D) Dlp isogons are convergent ‘

<A geologlcal formatlon nelther containing nor-transmlttmg watcr is termed as

(A it oy Wy  (B) Aquitard

© Aquifer (D) Aquifuge

(11) N : £ (_-Tm"n_('_)v_\e}'-):_l_.f 3 '
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P.G. GEOLOGY

76.

71.

How many times the amplitude of ground motion during an Earthquake of magmtude
8in Rlchter scale is more than that of a magnitude 6?

(A) 2 (B)20 () 10 «i- (D) 100
Choose the odd one _

(A) Pyrolusite _(B) Manganite

(C) Psilomelane (D) Magnesite -

78.

79.

" (A) Temperature

80.

(A) 1=2

(A) Atmospheric process

Atthe water.table of an unconfined aquifer,

Hydrostaﬁc pressure - 2. Atmospheric pressure

(B)1<2

(C) 1>2 D)y1>>2
Halocline represents the vertical distribution of

(B) Salinity

(C) Density (D) Oxygen

El-Nino Southern oscillation is an

" (B) Oceanic process

. 81.

s

i = A{2) Blrefnngence

(C) Oceanic-atmospheric coupled process:
(D) Oceanic-atmospheric-land coupled process

Acoustic impedance is the of density and velocity
(A) Sum (B) leference
(C) Product (D) Ratio-

Interference colour dcpends upon

(A) Phase d1fference : (B) Thlckness of the slme :

(D) All of the above o

iy Sl (Conrmued )
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P.G. GEOLOGY

. In a continuous reaction series, there is a continuous change in

(A) Composition only
(B) Crystal structure only

(C) Both composition and crystal structure
(D) None of the above

The dip measured along the strike direction of a vertical bed is

A) 0° (B) 45° (C) 60° (D) 90°

The halflife of a radionuclide 4 is double that of a radionuclide B. The fraction of
A remaining when B is reduced to 1/64 is

(A) 0-015 ) - (B) 0-031

(C) 0-062 (D) 0-125

Two localities 4 and B on a continental plate as shown in the figure below are

separated by a distance of 80 km. The plate velocities measured at 4 and B are
4 cm/yr and 5 cm/yr, resp ectively. Assuming no faulting in the area, the new distance
between 4 and B will be km in one million years.

(A) 80-622 | (B) 128-062
© 10G34194 e (D) None of the above

Gy S  (TwnOver)
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P.G. GEOLOGY

87. As shown in the following figure, a vertical well intersects the top -ax-ld bottom of an .
inclined bed at 200 m and 410 m depths, respectively. If the true dip of the bed is
60° to the north, the true thickness of the bed is metres. :

S -- N}

A) 210 (B) 105 }
(C) 10543 - (D) None of the above
'88. The mass number of alpha (o) particle is
. (A4 - (B) 2 _ €)1 (D)0

89. When plotted on a 1 :25000 scale, a2 km long dyke exposed-'('m a h'_orizbntal surface
" hasalengthof ' ' '

(A) 4cm . (B) .4 cm . (C)8cm i (D) .8 cm.
90. In the topographic map the steepest slope is
_ 290m
(A easterly - (B) westerly (C) northerly (D) southerly &
(1)

(Contired).
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(A) twisting

(©) Spectra.l-resolut.ion e

P.G. GEOLOGY

Hooke's law is apphcable In case of

(B) stretching

C
(C) bending (D) all of the above

In whlch type of rwer/s the reservoir is fed by the groundwater ? -
(A) Inﬂuent river (B) Effluent river
.. (C) Both(A)and (B) _ (D) None of the above

The type of unconformity where sedimentary rocks or lava flows overlie the older
plutonic rocks is called

(A) Disconformity . 3 (B) Non-conformity .

(C) Angular uncorformity o (D) Blended unconformity

If the rake of th_e,ne_tslip of a fault is 90°, the fault may be |

(A) Strike-slip - A (B) Dip-slip

©) Diagon_al-slip _ - (D) Tear fault

Among the followin g geologlcal conditions which is most desxrable for a proposed

dam 51te ? |
(A) Beds with 10°- 30° inclinations towards the upstream side |
(B) Beds with steep upstream side slope :

(©) Béds with .steep dqwnstream side slope.

(D) Vertical beds

The amount of time needed by a sensor to revisit and acquire data for the exact

same location is known as '
(A) Radiometric resolution (B) Spatial resolution
(D) Temporal resolution

| (15) -k e (TumOver)
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P.G. GEOLOGY

97. Which is/are the active sensor/s among the following 7 -

(A) RADAR - (B) Push broom scanner
(C) LIDAR ' . ) Both (A) and (C)

98. The spectral region of the clectromagnetic radiation which passes through the
atmosphere without much atténuation is known as
(A) Atmospheric band ' (B) A_tmospheﬁc window
©) Atmosphefic drift o (D) Annosp_heric crab

99. The vertical rock column traversed by network of small ore bearing veins is called

as
(A) Stock works | (B) Saddle reefs
(C) Ladder veins B (D) Fissure vein

100. Which colour has the longest wévelength in visible spectrum ?

(A) Blue . | (B) Green
(C) Red . _ - (D) None of the above

1 At T ~ RC-2,000.

Scanned by CamScanner



